





---------- Gl E ST L] —omomeenee

X2 + 1/x2 + y2 + 1/y?2 = 4

X2 + 1/x* + y? + 1/y? = 4

x2 + (1/x)% + y2 + (1/y)? = 4

note:

e (a% + b?) = (a + b)> - 2ab

e et également

e (a* + b?) = (a - b)? + 2ab

en conséquence:

(x - 1/x)2 + 2:x-(1/x) + (y - 1/y)? + 2.y-(1/y) = 4
(x - 1/x)2 + 2+ (y - 1/y)? + 2 =4

(x - 1/x)2 + (y - 1/y)* = ©

constat:

(x - 1/x)% = ©
X - 1/x = 0

X'(X = 1/X) = 0



(y - 1/y)? = ©
y -1/y =0

y-(y - 1/y) = 0
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il y a donc 4 réponses (4 cas qui vérifient 1'équation):

e X = -1 et y '1

+1

e Xx = -1lety

=k

e X =+1 et y

e X =+l ety +1



